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15 | HVH-12A supply air(TE-1625F) Q
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1 | vessel bottom head (TE-2-3-69L1) —
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@' 3| vessel bottom head (TE-2-3-6913) —
4 | vessel bottom above skirt jct (TE-2-3-69F1) —
5 | vessel bottom above skirt jet (TE-2-3-69F2) _
6 | vessel bottom above skirt jet (TE-2-3-69F3) —
RPV 7 | vessel wall above bottom head (TE-2-3-69HI1) —
8 | vessel wall above bottom head (TE-2-3-69H2) —
9 | vessel wall above bottom head (TE-2-3-69H3) 0
10 | retum air drywell cooler (TE-16-114A) _
11 | retum air drywell cooler (TE-16-114B) o
12 | retum air drywell cooler (TE-16-114C) o
13 | retum air drywell cooler (TE-16-114D) —
14 | retum air drywell cooler (TE-16-114E) o
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18 | supply air D/W cooler(TE-16-114J21) o
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